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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in
the blanks with suitable articles like

5. Rainy season comes before

A .
‘a’, ‘an’ and ‘the’ : (A) winter
(B) spring
1. There are 30 or 31 days in
(C) summer
month.
(A) the (D) More than one of the above
B) a (E) None of the above
(C) an
(D) More than one of the above 6. The eighth month of the year is
(E) None of the above A) July
2. My father is engineer in (B) September
the Water Works Department. (C) October
(A) the
(B) an (D) More than one of the above
(C) a (E) None of the above

(D) More than one of the above

(E) None of the above 7. Sister-in-law is

3. Which of the following is a part (4) husband’s sister

of bedroom? (B) wife’s sister
(A) Pillow

(B) Table lamp

(C) Curtains

(D) More than one of the above
(E) None of the above

(C) brother’s wife
(D) More than one of the above
(E) None of the above

8. Cousins are
4. Which of the following is a part

of a room? (A) maternal

(A) Window (B) paternal

(B) Ceiling (C) siblings

C) F1

(C) Floor (D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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9.

10.

11.

12.

‘Ftét’ weg # w-w w@s R?
(A) FeFaTE G

(B) Sifererr=res &=

(C) wTeaT=I BT

(D) 3wtk # & T § enferen
(E) 3w & & 18 7t

fferfiad wsdl § & FH-w1 TehawH 77
(A) TEER

(B) BFm

(C) =g

(D) 3w U | UH A Al

(E) 3w & & 18 7

fe=dt vl § ‘g’ w1 A fRg Ao %
o8 A1 2°

INBEERE IS

(B) I o 9

(C) = % 94T

(D) 39w H ¥ TH ¥ M
(E) 3w & & 18 7t

‘ot 7' gwaE 2, 38 a3\
AR | -1 T 27

INBREEREIEES

(B) TEeam®

(C) gruaT=h

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T
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13.

14.

15.

16.

oo =61 g g - TE R
(A) sTETETHe forRreor

(B) U= fergrem

(C) ufwTET fergmor

(D) 39w | ¥ UH ¥ M+

(E) 3udth # @ 1S T

frfefaa & & F=-1 3735 7ee 27
(A) dvew

(B) FH

(C)

(D) 39w | ¥ UH ¥ M+

(E) 3w & @ 18 7

frfafaa 9 @ &F-81 g Fd- aren
MR

(A) &b

(B) &=

(C) =TT

(D) 39w W | TH § Afh
(E) 3udth # & g T

frfefiga & @ =-a1 “qom’ e 7
(A) R

(B) w®

(C) =%

(D) 39w W | TH § Afh

(E) Sudth # & #1$ T

[P.T.O.



17. Tfafad § & wm-w1 foesft s &7

18.

19.

20.

(A) =T

(B) wiieEn

(C) =m

(D) 3w & ¥ wh @ Afeek
(E) 3w & & 18 7t

=T % R WA 3sa] & @e g
8 3% FH-91 I el AT &7

(A) w3

(B) i

(C) InTEg

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

frfafaa @ 4 fra o 0 ‘edw
fop” 27

(A) 38 Ta TR |

(B) fetert et 21

(C) ¥a% & | TR 9T 2|

(D) 39w | ¥ UH ¥ M+

(E) 39tk # & 1S T

freferfad & & F-1 39 wTeg 27
(A) mEmr

(B)

(C) waw

(D) 39w | ¥ TH ¥ M

(E) Sudth # & #1$ T
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21.

22.

23.

24.

frafafaa & @ ®F-a1 st ¥ wse T
37

(A) <R

(B) Steaum

(C) wefs

(D) 39w U | UH A Al

(E) 3wt § @ #1g T

‘@i’ fope a1 Tee 87
(A) Tl

(B) Wt

(C) Tl

(D) 3UYh H § TH ¥ Al
(E) 3w & @ 18 7t

IE 3N IE T B HH-a1 TH T
g &7

(A) HIEATRHI—RIHR

(B) g—Po

(C) WTRTH—HETeH

(D) 30w W | TH § Afh

(E) 3w & & 18 7t

“Ioem afos SSEd 2 T o9 ®
Eifehd wsg I g AT hi-HT B7

(A) S

(B) $sc

(C) 3saa

(D) 3w U | UH § Afh
(E) ST 4 4 & 7

4 (U



25. UF B2 IMHd 1 THhIAT o, S A

26.

27.

W forefl fog 1 feufa =1 w18 e g,
3W 1 HEd 87

(A) FER

B) fm

(C) wTe

(D) 3w W | TH § Al
(E) 39w | & &g T

‘FFEF o G HT FT TH 27
(A) =Thaly

(B) =R uigeh

(C) Hfvrcfieror 70

(D) 39w | ¥ TH ¥ M
(E) 30 § & =+ T

“Srarer B are e |
gId g3 Heeld, Sig-arg &g Ma |l

I HTI-UTRAT T HH-91 T 27

(A) Fm

(B) ®

(C) daTced

(D) 39w | ¥ TH ¥ M
(E) 39w # & &8 7
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28. &= Wil % 3gWE &1 el HHT ST 2

29.

30.

(A) 500 3o go

(B) 500 %o

(C) 1000 3o

(D) 3 U | UH A Afh
(E) 3w & @ 18 Tl

e A b 1 B e 4 G B =i
fetrfem, wnfimrt vd g gfas Ame @6t
EZdRIRI

A) diRafera

(B) ¢fiem

(C) R vura

(D) 39w W | TH § Afh
(E) 3udth # & 1S T

o wedl W fom, a=H, R # owE
9 9 U2, 9 FEAd &

(A) ==

(B) o=t

(C) Afrrdt

(D) 39w | ¥ TH ¥ 3=
(E) 39w # & &8 T

[P.T.O.



31.

32.

33.

PART—II
( GENERAL STUDIES )

The floor of a rectangular hall
has a perimeter 250 meters. If
the cost of painting the four
walls at the rate of 10 per
(meter)? is € 15,000, then the
height of the hall is

(A) 7 meters

(B) 16 meters

(C) 6 meters

(D) More than one of the above

(E) None of the above

Which of the following
statements is not true?

(A) Every natural number is a
whole number.

(B) Every integer is a whole
number.

(C) Every natural number is an
integer number.

(D) More than one of the above
(E) None of the above

The average of 7 consecutive
numbers is 20. The largest of
these numbers is

(A) 20
(B) 21
(C) 23

(D) More than one of the above

(E) None of the above
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34. The equation ax?+bx+c=0 has

35.

two distinct real roots, if

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) More than one of the above

(E) None of the above

Mohan can do a bit of work in
25 days which can be completed
by Sohan in 20 days. Both
together labour for 5 days and
afterward Mohan leaves off. How
long will Sohan take to complete
the remaining work?

(A) 20 days
(B) 11 days
(C) 14 days

(D) More than one of the above

(E) None of the above



31.

32.

33.

PART—II

( GENERAL STUDIES )

T IAAHR B & B hl IRy
250 Hier g1 gfe & 10 ufa o e
WY I AaE U = H A
¥ 15,000 2, a1 gt il ST 8

(A) 7 Hi

(B) 16 #ix

(C) 6

(D) 39w H ¥ UH ¥ M+

(E) 3w d ¥ =I5 T

fefafga & @ FH-w1 w9

T 27

(A) T WTHd WA, TH 0w B

(B) Yk qUIieh, Teh qUT G B

(C) Y% UIHd €&, TH YUl
e 2|

(D) 30w W | TH § Afh

(E) 37d & & 18 T

7 HHATG AT 1 3fEd 20 21 TH
Y oy 99 O ©

(A) 20

(B) 21

(C) 23

(D) 39w | ¥ UH ¥ M+
(E) 3udth § & #1$ T
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34. T F0 ax2+bx+c=0 % d fiE

35.

rEdfae ge i, Al

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) 3w U | UH A Al

(E) 3w H © %18 T

e 25 T # uh wm 9 e B
@ @ 20 f it & 9u s wehar 2|
Al U |y 5 Tt & fou o a2
3R 3Gk 18 Higd H BIS ol gl AT

F P QU A H died Hl o am
Y

(A) 20 f&
(B) 11 f&
(C) 14 f&
(D) 3w W | TH § Al

(E) 37 & & 18 e

[P.T.O.



36.

37.

38.

If X=a°-b?
a+ b =15, then

Y =30 and

(A) X is lesser than Y if a=b
(B) X is greater thanY ifa> b
(C) Y is greater than X ifa=b
(D) More than one of the above

(E) None of the above

The probability of a non leap
year selected at random will
contain 53 Sundays is

1
(A) =
2
(B) =
1
(©) =3

(D) More than one of the above

(E) None of the above

If 7126 = 493x+12 " then the
value of x is

A) 3
(B) 4
C) 7

(D) More than one of the above

(E) None of the above
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39. Myopia is a disease in which a

40.

41.

person cannot see
(A) distant objects clearly
(B) nearby objects clearly

(C) nearby as well as distant
objects clearly

(D) More than one of the above

(E) None of the above

The term ‘heredity’ chiefly refers
to

(A) anatomy

(B) meiosis

(C) genetics

(D) More than one of the above

(E) None of the above

in which food is
packed are coated with tin and
not zinc because

The cans

(A) tin is more reactive than
zinc

(B) zinc is more reactive than
tin

(C) zinc is costlier than tin
(D) More than one of the above

(E) None of the above



36.

37.

38.

afs X =a?-b?,
a+b=157%,

A) XBizYydaaka=hb

Y =30 du=@

(B) Xagig Y@ARa>hb
(C) YSeig X¥aa=h
(D) 39w H ¥ UH ¥ M+
(E) 3w & @ 18 7t

gfoa® €9 ¥ FH T TH - a9 |
53 oaR g4 =t TiReRar 8

1
(A) =

(B) =3

1
(©) =3
(D) 30w W | TH § Afh

(E) 3w | ¥ 18 e

-qﬁ 712X+6 — 493x+12 —Eﬁ, ?ﬁ x &1
GIChd

(a) 3

B) 4

(C) 7

(D) 3w W | TH § Afh
(E) 3udth # & #1$ T
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39. wEifuan T sw g, e whte @

40.

41.

EERICIR

(A) T H L T ¥ Y

(B) U il IEIE TE €Y Y

(C) T8 & qT T I U T &9 H
(D) 39w | ¥ TH ¥ M

(E) 393t o & 18 T

‘SEfERdT Y gEd w9 ° fRg
Hafilq st 27

(A) IRR-T=AT

(B) regEht favsH

(©) st

(D) 3w ® § TH ¥ fh
(E) 3udth § & #1g T

o fesai & @ ¥ fom San g, A
R fo & wa = Bt & 7 R 5w A
FifR

A) fH, & H g # Al
fefsramefier

(B) T, &7 & gam # Afees
fefspramefier

(C) 5=, fmaweme
(D) 39w U | TH § Al
(E) 37 & ¥ 18 e

[P.T.O.



42. The process in which 44.

atmospheric carbon dioxide is
converted into carbohydrates
during photosynthesis is

(A) oxidation

(B) reduction

(C) hydrolysis 45.

(D) More than one of the above

(E) None of the above

43. The quality of a printer is
determined as

(A) words per inch

(B) strike per inch

(C) dots per inch

(D) More than one of the above

(E) None of the above

46.

Trachoma disease is related to

(A)
(B)
(C)
(D)

(E)

lungs

ears

eyes

More than one of the above

None of the above

Which of the following makes
use of Newton’s third law of

motion?

(A) Archery

(B) Space rocket

(C) Venturimeter

(D) More than one of the above
(E) None of the above

Particles which can be added to
the nucleus of an atom without
changing its chemical properties

are

(A)
(B)
(€)
(D)

(E)

neutrons

electrons

protons

More than one of the above

None of the above
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42. g Yihar, ad Tme-wvame & SH

43.

IYE TAT wEA SEATFERS  H
Fratergee § giatdd o Sar g, 2

(A)  ATereTeRToT

(B) 1q==A

(C) STeft-forgereoT

(D) 39w H ¥ UH ¥ M+

(E) 3T | ¥ *18 e

wF e & o frea fetfa d
STt 27

(A) e ufd 3=

(B) WER Ui ¥

(C) forg wfa &=

(D) 30w W | TH § Afh

(E) 37 | ¥ 18
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44, HET T H qER 7

45.

46.

(A) wwEt @

(B) &M ¥

(C) =At@i @

(D) 39w | ¥ TH ¥ M

(E) 39w & & &g T
frefefaa & & F-a = % T
ek fw o1 3T T 87

(A) e

(B) 37afted Wehe

(C) e

(D) 3w W | TH § Al

(E) 3udth # & 1S T

O o I SaREfid T@d ge T
TIHTY] o AT | SIS ST aTet T §
(A) =g

(B) FwgH

(C) Wi

(D) 39w | ¥ UH ¥ i

(E) 39w # & &8 7

[P.T.O.



47. Before Elon Musk announced

48.

49,

change of the signature Blue
Bird logo to Sign X’ logo, who is
regarded as the creator of
Twitter’s iconic Bird in its final
version in 20127

(A) Jack Dorsey

(B) Martin Grasser

(C) Noah Glass

(D) More than one of the above

(E) None of the above

Who is the Director of the
famous film Oppenheimer, a film
about high-concept
released this year?

science,

(A) Christopher Nolan

(B) Guy Ritchie

(C) Laura McGann

(D) More than one of the above

(E) None of the above

Which one of the following has
pulled out from hosting the
2026 edition of Commonwealth
Games due to huge estimated
expenditure on its organization?

(A) London, UK

(B) Kuala Lumpur, Malaysia
(C) Victoria, Australia

(D) More than one of the above

(E) None of the above
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50. What is the full form of INDIA, a

51.

recently formed alliance of
opposition political parties?

(A) Indian National Develop-
mental Inclusive Alliance

(B) Indian National Develop-
ment for Improvement
Alliance

(C) Indian National Develop-
mental Inclusive Associa-
tion

(D) More than one of the above

(E) None of the above

What message was sent by
Chandrayaan-2 lunar orbiter to
Chandrayaan-3’s lander module
when it established contact with
it in August 20237

(A) “Welcome home”

(B) “Chalo
chalein”

chand ke paar

(C) “Welcome, buddy”

(D) More than one of the above

(E) None of the above



47. TEH W FN MUR & 98 @rn @

48.

49.

TRt X A o =F Y uEd,
2012 ¥ 1 AfH "eRor H g %
yiafsd =< % i & &9 # fra A7m
I

(A) S et

(B) wféT ame

(C) eI T&@E

(D) 3w U | TH A Afh
(E) 3udeh # & 1S T

30 a4 ellsl g8 I=-3auron g™ &
IR § yttg fhen “afioeem’ & v
HH 87

A) e TeH

(B) s =t

(C) < B

(D) 39Y® | ¥ TH ¥ M

(E) 3w & 9 18 T

Freafafaa & @ fFoa w51 welt &
2026 TR H ASEHT F THh
FRSH W 9 STFATHG 2T o R0
IO A AT9E o forn 87

(A) @&, Fo ho

(B) FAAR, AARTN
(C) foertfeam, sitefern
(D) 39w H ¥ UH ¥ M+
(E) 3udth # & 1S T
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50. g g # od fquefi usHifas e &

51.

13 (RO O

T INDIA %1 qUiEq -1 37

(A) 3T THA STUHeA  EME

AATTH

(B) 3fead JvHd STcUHE HR IHEHE
FATH

(C) e THE Sa@uHeA  IFd
LEIELE]

(D) 39w | ¥ UH ¥ i+

(E) 37 & & 18 e

A 2023 § T wEAE-2 Wg
e T I5AH-3 & ik uiegd o

groes Tefud R, df 3EY 39 T EeW
AT oY

(A) “Sorwm T

(B) ‘=it =g % ur =t
(C) “‘ScTewm, Tt

(D) 39w H ¥ UH ¥ M
(E) 39w # & 18 T

[P.T.O.



52. Name the former President of

53.

54.

China who crushed the pro-
democracy movement in 1989.

(A) Mao Tse Tung

(B) Yang Shangkun

(C) Jiang Zemin

(D) More than one of the above

(E) None of the above

Who has elected for the second
term as Ireland’s Prime
Minister?

(A) Sanna Marin
(B) Robert Abela
(C) Leo Varadkar
(D) More than one of the above

(E) None of the above

African Union was made a
permanent member in the G-20
Summit held in India. Who is
the Chairman of the African
Union?

(A) Azali Assoumani

(B) Justin Trudeau

(C) Ursula von der Leyen

(D) More than one of the above

(E) None of the above
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55. As per geographical area,
arrange the following physio-
graphic units of India in

56.

ascending order

1. Central highlands
2. Great plains

3. Coastal plains

4. Northern Mountains

Select the correct answer using
the codes given below.

A 3,1,2,4
B 1,2, 3,4
< 2,4,1,3

(D) More than one of the above

(E) None of the above

Arrange the following ranges
from North to South in
sequence :

1. Ladakh

2. Karakoram
3. Pir Panjal
4. Zanskar

Select the correct answer using
the codes given below.

A) 1, 3,2, 4
B) 2,1,4,3
< 3,4,1,2

(D) More than one of the above

(E) None of the above



52.

53.

54.

1989 U dlhasl Gwde IT<Icd i

FaeH ard FH1 % 99 Ugafd w AW
fefiam |

(A) ST & g

(B) = WA

(C) fomrm Siftm

(D) 30w U | TH § Afh

(E) 3udth # & 1S T

APRSlE & TAEEA F ®T OF g
FrdeRtet & fore fordr gm e 27

(A) &= wH

(B) e el

(C) fort strga

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T

IRa # TG si-20 R awes d

FER Y Rl TR ¥ ST T
TR G5 % 7L Hi 87

(A) T e

(B) et g2t

(C) 3G aH X TH

(D) 39w | ¥ TH ¥ M
(E) 39w # & &g 7
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55. WFlifeh &% & gaR, 9Rd &

56.

15 (R TRO O

FfaRaa e (Tefsammtes) st
1 TR ¥ H ATEd HIT :

1. s =9
2. HgH AeH
3. W HeN

4. 398 v
f= fow T g W oW W EE W
el

A) 3,1,2, 4
(B) 1,2, 3, 4

(C) 2,4,1,3

(D) 39w | ¥ UH ¥ M
(E) 3udth # & 1S 7

frefaitaa aftml = s @ <y i
3N A | HAEId il

1. o€
2. THHIA
3. R U~

4., SR
= fau MU Fe W O W AE IW
Tl

A) 1,3,2, 4

B) 2,1, 4, 3

(C) 3,4, 1,2

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & #1$ T

[P.T.O.



57. During the monsoon season in

58.

59.

India, most of the cyclones have
their origin

(A) between 8°N and
latitude

13° N
(B) between 10°N and 15°N

latitude

(C) between 16°N and 21°N
latitude

(D) More than one of the above

(E) None of the above

Which of the following areas is
not landslide-prone area?

(A) Western Ghats

(B) Eastern Ghats

(C) Himalayan Regions

(D) More than one of the above

(E) None of the above

Which of the following coasts of
India is most affected by violent
tropical cyclones?

(A) Malabar

(B) Coromandel

(C) Konkan

(D) More than one of the above

(E) None of the above
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60. When

61.

62.

running water cuts
through clayey soils and makes
deep channels, they lead to

(A) gully erosion
(B) sheet erosion
(C) deforestation
(D) More than one of the above

(E) None of the above

Which of the following receives
heavy rainfall in the month of
October and November?

(A) Hills of Garo, Khasi and
Jaintia

(B) Coromandel Coasts
(C) Plateau of Chota Nagpur
(D) More than one of the above

(E) None of the above

Cultivation of fruits and

vegetables is called

(A) floriculture

(B) agriculture

(C) horticulture

(D) More than one of the above

(E) None of the above



57. WRA H AEd disq H SRR Fghardi

58.

59.

1 et 2l @

(A) 8° 3o 3R 13° Jo AL & HEA
(B) 10° 3o 3T 15° 3o ALY & Te
(C) 16° 3o 3 21° o H&TIT & HeA
(D) 3w ¥ ¥ % ¥ Al

(E) ST | 9 =5 T

frafafaa @i 4 ¥ FH-91 yEEen-
YT () T 27

(A) ufyet =

(B) et =

(C) femerft &

(D) 374w # ¥ T & e

(E) 304 & & rg 7
Fafafad 4 9 ara =1 ®H-91 92 3
IUEHRES T whATal § Hew 3k
g 7

(A) FEER

(B) HRmSA

(C) =highul

(D) Sugth @ | TH W Aferh

(E) S H @ i3 T
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60. 9 sEal gl e gt # wear @

61.

62.

17 (IR O

3R e A ST B, A T B 87
INBRIS TG

(B) ¥fie &mu

(C) =i 1 Herd

(D) 39w H ¥ UH ¥ M+

(E) 3w 8§ & g T
frfafiad # @ el TR 3R T &
TR F ol auf 2t 27

(A) TR, WrE 3R SAfan i gerteat
(B) #RHsd e

(C) BIEFFY FH T8

(D) 3w & U @ rfeen

(E) 39w & & &g T

il U wfesEt 1 Gt Feard @
(A) et 1w

(B)

(C) =T

(D) 39w H ¥ TH ¥ M+
(E) 39w # & *1$ 7
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63.

64.

65.

66.

Who provided leadership in the
districts of Patna, Ara and
Shahabad during the Revolt of
1857 in Bihar?

(A) Raj Kumar Shukla

(B) Namdar Khan

(C) Kunwar Singh

(D) More than one of the above
(E) None of the above

The Partition of Bengal was
made effective on

(A) 14 October, 1905
(B) 15 October, 1905
(C) 16 October, 1905
(D) More than one of the above
(E) None of the above

The Quit India Resolution was
adopted by the Congress in
Bombay on

(A) 7 August, 1942

(B) 8 August, 1942

(C) 9 August, 1942

(D) More than one of the above
(E) None of the above

The British ruled India for a long

period due to the

(A) liberal
Congress

policies of the

(B) imprisonment of Indian

leaders
(C) policy of Divide and Rule
(D) More than one of the above
(E) None of the above
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67.

68.

69.

70.

Queen Victoria’s Proclamation

was issued on which of the

following dates?

(A) 1 November, 1857

(B) 27 March, 1858

(C) 1 November, 1858

(D) More than one of the above

(E) None of the above

Which of the following

statements is/are correct?

(A) Raja Rammohan Roy was
the pioneer of modern

education.

(B) Swami Dayanand
proclaimed India for
Indians.

(C) Vivekananda participated in
the Parliament of World
Religions.

(D) More than one of the above

(E) None of the above

Who among the following

became India’s unofficial

Ambassador to England?

(A) Surendranath Banerjee

(B) Dadabhai Naoroji

(C) Swami Vivekananda

(D) More than one of the above

(E) None of the above

Who described the Government

of India Act, 1935 as a ‘Charter

of Slavery’?

(A) Mahatma Gandhi

(B) Netaji Subhas Chandra
Bose

(C) Maulana Hasrat Mohani
(D) More than one of the above
(E) None of the above



63.

64.

65.

66.

foer #1857 &t wifd & SRH e,
AW R wmerEe et § R Aga
T fera?

(A) TSIHHAR LTt

(B) -WER @f

(C) Fr T

(D) 39w H ¥ UH ¥ M+

(E) 37 & & 18 T

A o favrse gwrelt g
(A) 14 TR, 1905 =i
(B) 15 3mEeR, 1905
(C) 16 3R, 1905 =
(D) 39y H ¥ TH ¥ M
(E) 3udth # & 1S T

TS H HUE g WG Drel T 9™
IERIRIE

(A) 7 3T, 1942 =
(B) 8 T, 1942 @i
(C) 9 3T, 1942 =i
(D) 30w W | TH § Afh
(E) 3wt § & 1S T

US4 WG T o o9 deh U9 hdl
fepam?

(A) =G it graTEl Fifadt & FHror
(B) et Jared s TRt & sror
(C) ‘afer 3R us A i Hifa & FHwor
(D) 39w H ¥ UH ¥ M+

(E) 3udth # & #1$ T
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67. ffafaa & & frm fafy =

68.

69.

70.

19 [EHANA0TR0 RO

foaeifen i 3gamon S g7
(A) 1 7FawR, 1857

(B) 27 |, 1858

(C) 1 7awR, 1858

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T

Ffafga # 9 E-81 Ho w2 87

(A) TST oW @ W fem
TIoft 9|

(B) @Mt g¥M=< 4 ‘YRd WRdRN
fora’ =t A fem

(C) s 3 fava o wog § om
fomm|

(D) 39w | ¥ UH ¥ M+

(E) 3w & @ 18 7t

T U T Tl H 9RA % SRR

gd a7

(A) Gl s

(B) =TS TRt

(C) Tt faaems

(D) 39w | ¥ TH ¥ 1M

(E) 3t # & 1S 7

TR R AfMHTH, 1935 =1 forem

T[T T AL AT

(A) W et

(B) TS GuTY =5 9

(C) IS Zoxd Wrem

(D) 39w W | TH § Afeh

(E) 394 # & hrg 7

[P.T.O.



PART—III
( MATHEMATICS )

71. If R be a relation on the set NV
of natural numbers defined by
‘nRm if n divides m”, then the
relation R is

(A) reflexive and transitive but
not symmetric

(B) transitive and symmetric

(C) symmetric but not
transitive

(D) More than one of the above
(E) None of the above

72. Which of the following is not
a set?

(A) The collection of days in
a week

(B) The collection of first five
prime numbers

(C) The collection of first five
natural numbers

(D) More than one of the above
(E) None of the above

73. If A and B are two sets with
AN B = ¢, then

(A) n(AuB)=n(A)+n(B)
(B) n(An B)=n(A)+n(B)
(C) n(AuB)+n(A) =n(B)
(D) More than one of the above

(E) None of the above
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74. If there are n elements in a set
A, then the number of binary
relations defined on the set A is
(A) 2n
(B) n?
© 2
(D) More than one of the above
(E) None of the above

75. If A={1,2,3} and B={45 6},
then which of the following is
bijective function?

@A) f={2 4,259,206}

B) f={(15),2 4,6 6)}

©€) f={04, 29,6 06)}

(D) More than one of the above
(E) None of the above

76. If f:[0,2n]—> R, defined by
f(x)=sinx, then f(x) is
(A) one-to-one function
(B) one-to-one and onto function
(C) onto function
(D) More than one of the above
(E) None of the above
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71.

72.

73.

PART—III

( MATHEMATICS )

Ife Tk Ha9 R, Thd GEATSAT % 9=
NQT“an?Tﬁ{n, m & fasfsa
a1 2 g uRefya 2, 9 g9y R ?

(A) Tged qAl Hhmeh, fohg EHfHA
Rl

(B) HehTHS qAT TUHA
(C) wmfid, forg s et
(D) 39w | ¥ TH ¥ M
(E) 394w & & &8 7

freferfiaa & & wF-u1 ag=m 78 27
(A) T | ¥ faAl o1 @

(B) 99 Uie 19T TEATSAT 1 T
(C) YoM Uie UTehd EEATSAT 1 TR
(D) 39w | ¥ TH ¥ 1M

(E) 3udth # & 1S 7

I A qM B 3 WY=ad ¥, @k
ANnB=¢,d

(A) n(AUB)=n(A)+ n(B)
(B) n(An B)=n(A)+ n(B)
(C) n(AUB)+n(A)=n(B)
(D) 30w W | TH § Afh
(E) 39w & & 18 7
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74. IR TH Wg=E A § n I9¥9 g, ql

75.

76.

= A W aRia fganad weai A
T 7
(A) 2n

(B) n?

© 27

(D) 39w W | TH § Al
(E) 3w § | wIg T2

gfe A=1{1,2 3} 91 B ={4, 5,6} @,
q frefafea & @ w=-wr Thehl-
ITBIE Bl &7

A) f={24,2)95),26)}
B) f={(15),2 4,6 6)}
C) f={L4,25),E 6)}
(D) 39w | ¥ UH ¥ M+
(E) 3w & @ 18 7t

afg f:00,2n] - R, f(x)=sinx g
aieTid &, @ f(x)

(A) Thehl weH @

(B) Tl qUT A=BIEH %o &
(C) TT=BTEH Hed B

(D) 39w U | UH A Al
(E) 39tk # @ 1$ T
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77. Which of the

78.

79.

80.

following is
a ‘statement’?

(A) Roses are black

(B) Mind your own business
(C) Be punctual

(D) More than one of the above
(E) None of the above

If A and B are two sets, then
(A) (A’UB)=BNA)

B) (AuB)=(AuB)’

(C) AnB)=(A"nB’

(D) More than one of the above
(E) None of the above

If the nth term of an arithmetic
progression is 3n -4, then the
10th term of the arithmetic
progression is

(A) 12
(B) 26
(C) 36

(D) More than one of the above
(E) None of the above

If1/(b+¢, 1/(c+a and 1/(a+b)
are in arithmetic progression,
then

(A) a, b, ¢ are in arithmetic
progression

(B) a2, b2, c? are in arithmetic
progression

€ 1/a, 1/b, 1/c are in
arithmetic progression

(D) More than one of the above

(E) None of the above
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81. The first term of a geometric
progression is 1. If the sum of
the third term and fifth term
is 90, then the common ratio of
the geometric progression is
(A) 3
(B) 2
(€ 1
(D) More than one of the above
(E) None of the above

82. Which term of the following
sequence is 1287

2, 242, 4, -
(A) 9th term
(B) 12th term
(C) 13th term
(D) More than one of the above
(E) None of the above

83. If the arithmetic mean and
geometric mean of the roots
of a quadratic equation are
8 and 5, respectively, then the
quadratic equation is
(A) x2-13x+40=0
(B) x2-16x+25=0
(C) x2-13x+25=0
(D) More than one of the above
(E) None of the above
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77. Tafafga 4 9 s9-a s w27

78.

79.

80.

(A) T HA B T

(B) AU &9 T HH TN
(C) ueE T

(D) 39w H ¥ TH ¥ M
(E) Sudth # & #r$ 7

afe Ao B < ag= &, dl
(A) (A’UB’)= (BN A)
(B) (AUB)=(AUBY)
(C) (AnB) =(A’nB))
(D) 39y H ¥ TH ¥ M
(E) Sudth § & #1$ T

Ife UH FHIG AUt FH ndl 9 3n -4
|, d 39 gHia Joft w1 10471 ue ®

(A) 12

(B) 26

(C) 36

(D) 39w | ¥ TH ¥ M
(E) 39t o & 18 7

afg 1/(b+0), 1/(c+a) a1 1/ (a+ b)
Tt it § 2, A

(A) @, b, cEHGE Avft & g

(B) a2, b2, c? wmiax Aol & &M
(C) 1/a 1/b, 1/ c@mia Joft § &R
(D) 3w U | UH ° Afh

(E) 3udth # & #1$ T
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81.

82.

83.

TF IR Avft w1 oUW ug 1 7| AR
IG% dH U qUT UiEd 9 T AN
90 &, T IO A H wAME

3T ©
(A) 3
(B) 2
(€) 1
(D) 30w W | TH § Afh
(E) 3udeh # & 1S 7
frfafaa sgem &1 ®E-T1 98 128
I

2, 242, 4, -
(A) 93T vq
(B) 12af 4q
(C) 13ai g
(D) 3w W | TH ° Al
(E) 3t # & 1S T

Ifs U f5oma aHieRtor o goll 1 THER
T qT TUNNR WIET HEL: 8 9T 5 &,
ar faema w3

(A) x2-13x+40=0
(B) x2-16x+25=0
(C) x2-13x+25=0

(D) 39w | ¥ UH ¥ i+
(E) 37 & ¥ 18 e
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84. The multiplicative inverse of
2-3iis
(A) 2+3i
B) 3-2i
© 2+
13 13
(D) More than one of the above

(E) None of the above
85. The value of i °° is
(A) 1
(B) —i
(€) 1
(D) More than one of the above
(E) None of the above
86. Which of the following

statements is correct?

(A) A polynomial equation has
at least one root.

(B) A polynomial equation of
degree n has n roots.

(C) A polynomial equation may
have no real roots.
(D) More than one of the above

(E) None of the above
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87. n?<2" is true for all natural
numbers, if
(A) n=5
B) n<5
(C) n<3
(D) More than one of the above
(E) None of the above
88. The value of series
12+22+32+---+p2
is
A) r(p+])
2
+1)(p-1
(B) pRp+1)(p-1)
6
©) p(p+)Rp+])
6
(D) More than one of the above
(E) None of the above
89. Which of the following steps
is mandatory in the principle
of mathematical induction?
(A) Inductive reference
(B) Inductive hypothesis
(C) Minimal set representation
(D) More than one of the above
(E) None of the above
24 (WL e



84. 2 - 3i % TUITCHS Ufdeld &

85.

86.

(A) 2+3i
(B) 3-2i

© 2+
13 13

(D) 39w H ¥ UH ¥ M
(E) 3w & @ 18 7

i3S FAM R

(A) i

(B) —i

© 1

(D) 3w U | TH ¥ Afh
(E) 39w & & &g T

fefefiad 9 @ HF-91 %oe g 87

(A) TH SEUE HHIHW H1 HHA-H-FH
TF g 2l 2

(B) TH n A % 9gIE THET & n
e B 2

(C) T 9gUS HHIHWT 1 hig AT
el T oft & Fehal ®)

(D) 39w | ¥ TH ¥ M
(E) 37 | ¥ 18 e
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87. n?<2" wft Upa wewel % fau

88.

89.

e 7, afg

A) n>5

B) n<5

(C) n<3

(D) 7Y H § TH ¥ Al
(E) 3udeh # & 1S T

#ft
12+22+32+---+p2

1AM B

A) p(z;+1)
pRp+1)(p-1)

(B) e

pp+1l)2p+])
6

(€)

(D) 3w W | TH § Afeh
(E) 3w & © 18 T

fafafag =i § 9 swe-w afrda
I & fagia @ afar 27

(A) ATTHATHS T

(B) STATHATCH® TRyl
(C) e w= Sferfferet
(D) 39w | ¥ TH ¥ M=
(E) 3udth # ¥ #1g T
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90. How many different groups of

91.

92.

5 men and 2 women can be
made out of a total of 7 men and
3 women?

(A) 36
(B) 64
(C) 63

(D) More than one of the above

(E) None of the above

There are 12 people at a party.
They all shake hands exactly
once with everyone else in the
party. The total number of
handshakes took place at the
party is

(A) 60
(B) 76
(C) 66

(D) More than one of the above

(E) None of the above

In how many ways can 10 letters
be posted in 5 postboxes, if each
of the postboxes can take more
than 10 letters?

(A) °Cio
B) '°Ps
©) 5

(D) More than one of the above

(E) None of the above
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93. A triangle is formed by joining
any three non-collinear points
in pairs. How many triangles
can be formed, if there are n
non-collinear points?

(A) 3n

nn-1)n-2)
B) ——
(C) nn-Y(n-2)
(D) More than one of the above
(E) None of the above

94. The fourth term in the binomial
6
expansion of (x+) is
X

15
A —

x2
(B) 20x?
(C) 20x
(D) More than one of the above
(E) None of the above

95. The value of 99)° is
(A) 9509901999
(B) 9509900499
(C) 9909500495
(D) More than one of the above
(E) None of the above
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90. FA 7 TEW A 3 Higaws®i H 4,

91.

92.

5 gEdt a1 2 wfeenstt wl wet fohad
GOk HHE A ST Thd 87

(A) 36

(B) 64

(C) 63

(D) 39w | ¥ TH ¥ M
(E) ST & & 1% 2

TE 9 H 12 W g 9 |t ol |
et wft @M ¥ 3 TE aR EY
frema 21 el 4 @y e Ao
T 2

(A) 60

(B) 76

(C) 66

(D) 39w H ¥ UH ¥ M

(E) 3w & © 18 7

5 UrEeHiE § 10 9 fohde TR ¥ 1A
ST Hehd 8, Ife T qiesiod § 10 9
ST I 311 Tehd o7

(A) °Cig
(B) '°Ps

(D) 39w | ¥ TH ¥ M
(E) 37 | ° 18 e
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93.

94,

95.

et dm e foge w1 3w #
Sted @ ws Bigs s@ar 21 AR n
s fomg @, @ fhad Piger sAmg
ST Hhd 27

(A) 3n

nn-1)n-2)

(B) 6

(€) nnh-1)(n-2)

(D) 3 W | TH ° Afh
(E) 37 & ¥ 18 e

(Hlfm—qaﬁwﬁaﬁma%

X

15
A R
a3

(B) 20x?
(C) 20x

(D) 39w | ¥ UH ¥ M
(E) 3w & © 18 T

(99)° 1AM

(A) 9509901999

(B) 9509900499

(C) 9909500495

(D) 39 U | TH A Al
(E) Sudth # & #1$ T
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96. The value of

97.

98.

n
k=0

is

(A) 4n

B) n*

(C) 4"

(D) More than one of the above

(E) None of the above

If logip(x-10)=1,
value of x is

then the

A) 1
(B) 10
(C) 20

(D) More than one of the above

(E) None of the above

Which of the following equalities
is not correct?

(A) log10 10=1

(B) log(2+3)=1log2x23)

(C) log(l+2+3)=1logl+log?2
+log3

(D) More than one of the above

(E) None of the above
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99, If logx(196) = —;, then the value

100.

101.

of x is
(A) 196
B 22
© -

(D) More than one of the above

(E) None of the above

The value of

log 342 (118)
is
(A) -2
(B) 2
(©) 32
(D) More than one of the above

(E) None of the above

If logipa=p and logigb=gq,
then the value of log;g(a? b9)is

+
(A) pr+q
a+b

B) p?-q°
(©) p?+q?

(D) More than one of the above

(E) None of the above
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n 9 1
96. Y 3knCc,wmARR 99. ‘Jﬁlogx( j=—2‘€f,?ﬁxwm=r%

= 16
) 4n "
B 4
(C) 4"
. © -—
(D) 3w ® & UF @ ifern 16
(E) 3 | ¥ *IE T (D) 3w & ¥ w @ 2afeek
(E) 37 | & 18 e
97. 3l logip(x-10)=1 g, @ x @ 1
e 100. log, 5 (18) EARIC R
(B) 10 B) 2
(D) 3w # & T @ aifer (D) v & & U @ s
(E) 37 | ¥ 18 e (E) 37 & & 18 e

98. fmmfdfaa @ @ w=-#t wfm @ 101. ¢ logiga= p a4 log;ob=q &,
& 27 al logyo(a? b%) =1 AF
(A) log1010=1

w
(B) log(2+3)=1log(2x3J)
B) p*-q°
(C) log(l+2+3)=1logl+log?2
+log3 (C) p?+q?
(D) 3T # ¥ T ¥ AfeE (D) S § & Tk & wfern
(E) 30w & § Hrg T (E) 393 # & g T
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102. The value of log.2 is

(A)1+i+i+i
21 3! 41
(B) O
1 1 1
C) 1-—+=--—
2 3 4

(D) More than one of the above

(E) None of the above

103. The sum of the infinite series

111
2 22 23
is
A) 1
1
B _
(B) 5
2
C -
(C) 3

(D) More than one of the above

(E) None of the above

104. The values of a and b in the

equation

5c-d 4c+3d

2a+b a-2b _ 4 -3
111 24

are

(A) a=-1, b=2
B) a=2, b=1
(C) a=2, b=-1

(D) More than one of the above

(E) None of the above
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105. If

1 0 30
A= and B =
MR N

then
(A) AB=BA
(B) AB # BA

(C) A+B=B+A
(D) More than one of the above

(E) None of the above

106. If A and B are invertible
matrices of the same order, then

(&) (AB)™' = (BA)™!
(B) (AB)"'=B"1a"1
€) AB) t=a"1B"!

(D) More than one of the above

(E) None of the above

107. Which of the following
statements is not correct?

(A) A is a symmetric matrix if
A’ =A.

(B) A is a skew-symmetric
matrix if A" # —-A.

(C) Inverse of the square
matrix A, if exists, is
unique.

(D) More than one of the above

(E) None of the above
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102. log,2 F AF T

M)1+i+l+i+m
21 3! 4!

(B) O

(D) 30w U | TH § Al
(E) 3w & o 18 T

103.

(€)

(D) 39w | ¥ TH ¥ M
(E) 3w & @ 18 7t

fafafaa gfteo 4 g 991 b w1 7=
F 27

104.

[2a+b a-2b] [ 4 -3
|5c-d 4c+3d| |11 24

A) a=-1, b=2

(B) a=2, b=1

(C) a=2, b=-1

(D) 39w H ¥ UH ¥ M+
(E) 3udth # & #1$ T
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105. =fT
_[1 0] _[3 0]
A_LO QJ?MTB LO 4Jﬁ,
a
(A) AB=BA
(B) AB # BA

(C) A+B=B+A
(D) 3w U | UH A Afh
(E) 394w & & &5 T

106. IfT A T B 9H HIfE & Fewavia

IR 7, ab
(4) (AB)™=(BA)!

(B) (AB)"'=B71a"!
(C) AaB)l=a"B7!

(D) 39Y® | ¥ TH ¥ M
(E) 37d & & 18 T

Freafarfiad & @ #F-a1 wuw w9 7= 7
(A) A TH THMG IMegE @, AR
A'=A.

(B) A wh foum wufim smege =mm,
qfg A’ # —-A

107.

(C) wh =i #igw (=qg) A
i, i deE @), @ s
BT ®

(D) 3w U | TH § Al
(E) 37 & & 18 e
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108.

109.

110.

The number of possible matrices
of order 3x3 with each entry
1or2is

(A) 18
(B) 81
(C) 512

(D) More than one of the above

(E) None of the above

If the area of a triangle with
the vertices (-3, 0), (3, 0) and (O, k)
is 9 sq. units, then the value
of k is

(A) 3
(B) -9
(C) 9

(D) More than one of the above

(E) None of the above

Which of the
statements is correct?

following

(A) Determinant
matrix.

is a square

(B) Determinant is a number
associated with any matrix.

(C) Determinant is a number
associated with a square
matrix.

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-13/S5 (HS)/237-A

111.

112.

113.

If A is an invertible matrix of
order 2, then det (A'l) is equal to

(A) det(4)

1
(B) det(A)
€ 1

(D) More than one of the above

(E) None of the above

The value of

1 1 -2
3 4 5
-1 2 1

is

(A) —34
(B) —46
(C) 44

(D) More than one of the above

(E) None of the above

For which value of x, will the

matrix given below become
singular?

[8 x O]

A=| 4 0 2|

LIQ 6 OJ
(A) 2
(B) 4
C) 6

(D) More than one of the above

(E) None of the above
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108. Y& WE® 1 A1 2 % |Y HIE 3x3 111. 3 A TF HIlE 2 H FEHAUE T

% Wi AT 1 W 2, @ det (A1) =R @
(A) 18 (A) det(4)

B8t (B) detl(A)

(C) 512 © 1

(D) 3 | O T A Al (D) T & w @
(E) ST @ @ =i 7 (E) 3% 4 4 & 7

112. f=fafad = o= =0 87
109. =¥ (-3, 0), (3, 0) T (0, k) ATt Tyt

1 ABA O o ThE 8, @l k B HH B 31 i ‘i
(A) 3 -1 2 1
B) -9 (A) -34
© 9 (B) —46
' (C) 44
(D) STF A T 1 A (D) e & & T & sl
(E) 3T | ¥ 18 (E) 37 & & 18 e
, 113. x & frg WM & fau f= fen w0
110. fr=fofad & & wF-u1 Suw @&t 27 TR, A A S
(A) TR T i TR R 8 x 0
.. A=|4 0 2
(B) umfrs foreft oft seye @ wafea 12 6 0
Teh G 2
. (A) 2
(C) ORfE o T ¥ Haled Tk
T B B) 4
, (C) 6
(D) 3T o § TF ¥ A (D) 3w § & uF &
(E) 3w & § g T (E) 393t & & g T
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114. If 117. If

ax x2 1 a b c xe {_n’ n}
Ay =|by y2 lland Ay =|x y =z 22

cz z> 1 zy zx Xxy then the value of sin_l(cos x) is

then @A) 0
(B) x
(A) Ap=-A,
n

(B) A;-Ap=0 @ (57
(C) Ay #Aj (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above

118. If
115. If|A|=7, then the value of |2A]is 1 <x< 1
(provided | A|is determinant of A) 2T T T2
(A) 14 then the value of
B) 28 sin~1(2x4(1 - x2))

(C) 56 is

(D) More than one of the above .1

(A) 2sin” " x
(E) None of the above

(B) sin™!x?

116. If sin"!x+sin~ly = g, then the (C) sin~'2x

1 (D) More than one of the above

(E) None of the above

value of cos™ x+cos_1y is

T
A —
(A) 5
119. The value of sin3x is
B) O
B (A) 4sinx-3sin® x
2
(&) ?n (B) 3sinx - 4sin3 x

(C) 3cosx—4cosS x

(D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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114. 3

b ¢

y
zZXx xy

ax x? 1
by y2 1{dgm Ay =

cz z% 1

a
A1= X

zy

z

=,

(A) Ay =-Ay

(B) A;-A5=0

(C) Ay#Ay

(D) 39w H ¥ UH ¥ M
(E) ST & & 1< e

115. I |A|=7 @&, @ [2A| ® AE ®

(S | A], A 1 GRS B)
A) 14

(B) 28

(C) 56

(D) 30w W | TH § AfUh
(E) 3udth # & 1S T

116. 3R sin'1x+sin_1y=g g,

cos™! x+cos_1y EIRIC R

T
A 3

(B) 0

27
(€) 3

(D) 39w | ¥ TH ¥ M=
(E) 37 & ¥ 18 e

24 /HV/M-2023-13/S5 (HS)/237-A

117. 3

7, sin_l(cos x) 1 HE 2
(A) O
(B) x

o (34

(D) 39w | ¥ TH ¥ M
(E) 3w § | wI5 T2

118. IR

1 1
——=<x<—
V2 V2

A, dl sin~H(2xy(1 - x2)) F AE B

(A) 2sin”tx

(B) sin~!x?

(C) sin"'2x
(D) 39w | ¥ UH ¥ M
(E) 37d & & 18 T

119. sin3x w1 A 2

3

(A) 4sinx-3sin® x

3 x

3 x

(B) 3sinx-4sin

(C) 3cosx—4cos
(D) 39w | ¥ UH ¥ M+
(E) 37 & ¥ 18 e
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120. The value of cos(-1710°) is 123. The value of
(A) 1 (tanS57°+cot37°)
B) -1 (tan33°+cot53°)
(C) O is
(D) More than one of the above (A) tan33°xtan57°
(E) None of the above (B) sin53°+ cos33°
(C) sin53°xsindS7°
a . .
121. If cosx = b then sinx is (D) More than one of the above
(A) (b? -a?) (E) None of the above
b
(b-aq) 124. The equation of a line that
(B) b passes through the points (1, 5)
and (2, 3) is
(b2 - a?) (A) 2x+y+7=0
© ———
B) 2x-y-7=0
(D) More than one of the above (C) 2x+y-7=0
(E) None of the above (D) More than one of the above
(E) None of the above
122. The value of the expression
sin®6+cos®6+3sin?6 cos? 6 125. The difference of the slopes of
) two parallel lines is
is
A) -1
(B) 2 B) O
C) 3 C) 1
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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120. cos(-1710°) @ AF (tan57°+cot37°) - s

123. (tan33°+cot53°)
(A) 1
(B) -1 (A) tan53°x tan57°
(€) O (B) sin53°+ cos33°
(D) Wﬁﬁ@ﬁﬁ&fw (C) sin53°XxsinS7°
(E) 37 & & 18 T
(D) 39w | ¥ UH ¥ M+
121. qﬁ'cosxz%‘iﬁ,?ﬁsinx% (B) S d @ =iE T
n (7-d%) .
(A) b 124, famgadi (1, 5) @ (2, 3) & TR arett
1 FHieR §
(b-aq
B) —— (A) 2x+y+7=0
(C) (bQ—aQ) (B) 2x—y—7=0
b (C) 2x+y-7=0
(D) ST # 4§ Uk ¥ wAfew (D) I & & uF § e
k| ’ . .
() w5 & e T (E) 3T | & I8 e
122. =S

. 6 ) ) 125. 3 HHETR @i hl gaudisi oh
sin” 0+cos°0+3sin“ 06 cos“6

W B
1 AE & @ -1
(A) 1 B o
B) 2
€ 1
© 3
(D) 394w & & TF § AfH (D) 39w & & T T Al
(B) 3ww 3 @ = (E) v & g e

24/HV/M-2023-13/S5 (HS)/237-A 37 IR manmm  e.r.o.



126. The centre of the circle

127.

128.

x2+y2—4x—10y+4=0

is

A 29
(B) (=2 -9
€ 62

(D) More than one of the above

(E) None of the above

The equation of the parabola
with vertex at the origin and
directrix x-2=0 is

(A) y? =-4x
(B) y?=-8x
(©) y?=4x

(D) More than one of the above

(E) None of the above

The perpendicular distance from

the point (3,-4) to the line
3x-4y+10=0 is

(A) 17

B) 9

) 7

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-13/S5 (HS)/237-A

129. The equation of hyperbola with

130.

foci on the x-axis and centre
(0, 0) is
x2 2

y

A) =+Z2-=1
a’> b2
2 2

B *5-45=1
a b
2 2

© 5=
a“+b

(D) More than one of the above
(E) None of the above

The value of

. 1
lim x sin—

x—0 x
is
(A) -1
(B) O
(€ 1

(D) More than one of the above
(E) None of the above

131. The value of
. 1-cosx
lim | ———
er{ x2 :|
is
1
A _
A 5
1
B .
B 5
€ O
(D) More than one of the above
(E) None of the above
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126. g0 x?+y%-4x-10y+4=0 ®

127.

128.

24 /HV/M-2023-13/S5 (HS)/237-A

Eh

(A) 25

B) (-2, -95)

€ 62

(D) 39w H ¥ UH ¥ 1M+
(E) 393 o & 18 7

Hatfarg W 3 don FEa x-2=0%

1Y T 1 GHIRT 2

(A) y?=-4x
(B) y?=-8x
(©) y?=4x

(D) 39w | ¥ TH ¥ M

(E) 30 | ¥ 18

g (3,-4) ¥ W1 3x-4y+10=0

T T e gl B

(A) 17

(B) 9

(C) 7

(D) 39w | ¥ UH ¥ M+
(E) 39w & & &g T

F5 (0, 0) AAT x-31&T W TMOT & @1

129.
srfaae™ w1 gt @
x2 42
A) —+Z2 =1
(A) a2+b2
X2 y2
B ——-< -1
(B) 2,2
x2+y2
C =1
© a?+ b2
(D) 39w | ¥ UH ¥ 3"
(E) 3w & © 18 T
130. hnlxsﬂrlaﬂWH%
x—0 X
A) -1
(B) 0O
) 1
(D) 39Y® H ¥ TH ¥ i
(E) 37 | ¥ *18 e
131. lim F—Cgsﬂwm%
x—0 X
a
1
(B) >
(C) O
(D) 39w | ¥ TH ¥ M
(E) 37 & ¥ 18 e
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132. The function f(x)= x|x| is

133.

134.

(A) not continuous at the origin

(B) not differentiable at the
origin

(C) differentiable at the origin

(D) More than one of the above

(E) None of the above

The value of

) x3-7x%+15x-9
lim
x—=3| x* -5x3+27x-27

is

&) 9
2
(B) 5
1
(& oy

(D) More than one of the above

(E) None of the above

If f(x)=|sinx|, then

(A) f(x) is everywhere differen-
tiable

(B) f(x) is everywhere continu-
ous but not differentiable at
X=Nmnez

(C) fl(x) is everywhere continu-
ous and everywhere differ-
entiable

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-13/S5 (HS)/237-A

135.

136.

137.

If E; and E, are independent
events, then

(A) P(E;nEj)=P(E;)|P(Ey)
(B) P(E;nEj)=P(E;) P(Ey)
(C) P(E1NEy)=P(Ey)+P(E)
(D) More than one of the above

(E) None of the above

The probability of landing
exactly three tails when three
coins are tossed simultaneously
is

1
(A) 1
1
(B) 3
1
(€) 5

(D) More than one of the above

(E) None of the above

If E{ and E, are two events
such that P(E)#0 and
P(E5|Eq) =1, then

(A) EiCEj
(B) E2 C El
(C) Ex=9¢

(D) More than one of the above

(E) None of the above
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132. &®aH f(x) = x| x|

133.

134.

(A) TeIferg T Had T &

(B) HeIferg W Taehara a8 @
(C) Haforg W e &
(D) 3T H ¥ TH ¥ e
(E) 393t o & I8 &

fa=ferfaa = 7 = 27

. x3-7x%2+15x-9
lim 7 3
x—=3| xT-5x°+27x-27

(A) 9

2
(B) °
1
(€) 5
(D) 39w | ¥ UH ¥ M
(E) 3T | ¥ 18 e

G f(x) =|sin x| &, @
(A)  f(x) T e B

(B) f(x) o ¥dd & Ty x = nm,
n e z W ITFHATT T8 &

(C) flx) ¥ Had T qo wEA
FahT B

(D) 39w H ¥ UH ¥ M+
(E) 37 | & 18 e
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135.

136.

137.

I E; q41 E, a4 9T &,
(A) P(E1nEj)=P(E)|P(E)
(B) P(E;nEjp)=P(E;) P(Ey)

(C) P(E1NEj)=P(E)+P(E))
(D) 39Y® | ¥ TH ¥ M
(E) 37 | ¥ 18 e

ECECICRCEARCI Rk Dl cI Ui )
W 2 (tails) 3T <l UTRRAT 2

(A) 2

1
(B) 3

€ 5

(D) 39 U | TH A Al
(E) 3T | & 18 e

Ifie E; a0 E, @ HeAl g, S&fh
P(E)) #0730 P (Eo|Ey) =171, @

(A) El C EQ
(B) E2 (= El
(C) Ex=9¢

(D) 39w | ¥ TH ¥ 1M
(E) 37 & ¥ 18 e
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138. The mode of the following data 141. The value of J.cotxlog(sinx)dx

4,6,5,9,3,2, 7,7, 6, 5, is

1
4,9, 10, 3, 4, 7, 6,9, 9, 10 &) Leotx-log(ryC

is

(A) 4 (B) ;(log sinx)?+C

B) 9 1

(C) 20 (@) Elog (cos x)2+C

(D) More than one of the above (D) More than one of the above

(E) None of the above
(E) None of the above

139. Which of the following is a

142. Th 1 f
measure of central tendency? 2 € value o

(A) Mode J.ltan_l(2x_12)dx
0 1+ x—x

(B) Range ]

is
(C) Median A 1
(D) More than one of the above

(B) O
(E) None of the above

T
C _
© 5

140. The value of_l‘[(log|x|)2 / x]dx is
(D) More than one of the above
(A) [1+log|x|P+C
(E) None of the above

@ HoslxIl
3 143. The function f(x) = x*, x >0 has
(1 log | )]3 . (A) no extremum point
—log(x
©) 3 +§ (B) only one extremum point

(C) two extrema points
(D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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138. fffad sl (data) &1 FgaH

139.

140.

T 27

4,9, 10, 3, 4,7,6,9,9, 10
(A) 4

(B) 9

(C) 20

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T
fr=fafaa & @ F9-a1 © F=a g9
1 AT 27

(A) =T

B) &

(C) wfeza

(D) 39y H ¥ TH ¥ M

(E) 39 d § =hIg T

[1(og|x)? / x] dx =1 71 &

(A) [1+log|x|]P+C

3
i loslxlP
3
3
o M-l 1
3 3

(D) 39y | ¥ TH ¥ M

(E) 37 & ¥ 18 e
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141. [cotxlog(sin x) dx I AH &

142.

143.

(A) écot x-log(x)+C
1 . 2
(B) E(log sinx)“+C

(@] ;log (cos x)2 +C

(D) 3w W | TH § Afh
(E) 37 | & 18 e

fa=ferfaa = 7 = 27
f(l)tan_l(

(A) 1

2x -1

1+ x—-x

e

(B) 0O

T
© %

(D) 39w | ¥ UH ¥ M
(E) 3w & © 18 T

B flx) = x*, x>0
(A) 1 = forg T 2
(B) =1 hele T = forg ®
(C) = 3 = fog B

(D) 3w U | TH A Al
(E) 3udth # @ 1$ T
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144. The area of the ellipse

is

2
a
A) n—
b2
(B) mab
(@) n(1+1)
a b
(D) More than one of the above
(E) None of the above
145. The length of the vector
represented by the directed line
segment with initial point
P(2,-3, 4 and terminal point
Q (_27 ]-7 ]-) is
(A) 41
(B) V32
(C) V43
(D) More than one of the above
(E) None of the above
> N> .
146. The value of (a—b)x(a+Db) is
%
(A) 2(axb)
(B) (a®-b?)
-
(C) (axb)

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-13/S5 (HS)/237-A

147. Time period is a

(A) vector quantity
(B) scalar quantity

(C) Neither scalar nor vector
quantity

(D) More than one of the above

(E) None of the above

148. The pair of equations 3x -5y =7

and -6x+10y =7 has
(A)
(B)

a unique solution
infinitely many solutions
(C) no solution

(D) More than one of the above

(E) None of the above

149. The optimal value of the
objective function is attained at
the points
(A) on X-axis

(B) on Y-axis

(C) on the corner points of the
feasible region

(D) More than one of the above

(E) None of the above

150. The point which does not lie in

the half-plane 2x+3y-12<0 is
A) 23
(B) (-2 3)
) L2
(D) More than one of the above
(E) None of the above
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145.

146.

(B) mab

(©) n(iﬁ;)
(D) 39w H ¥ TH ¥ M+
(E) 3ud & & 18 T

yrfis fag P2 -3, 4) dun zfiAa
g 0 (-2, 1,1) = @y fehma wmE
ST €T T G il g 2

A) V41

B) V32

(C) V43

(D) 30w W | TH § AfUh
(E) 3udeh # & 1S T

(@ —Db)x(@+ D) =
(A) 2(@xDb)
(B) (a®-b?)

(© (@xb)

(D) 39w | ¥ TH ¥ M
(E) 37 & & 18 e
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147. 999 @Y TH
(A) wfew Amm
(B) fewr Amm B
(C) = wifew i 7 & wfew amn @
(D) 30w U | TH ¥ Afeh
(E) 3udth # & 1S T
148. GHERI-H 3x-5y=7 qern
—-6x+10y =7
(A) =1 AT & ©
(B) % 3= g ¢
(C) =1 IS & eI 2
(D) 39w | ¥ TH ¥ M
(E) 3w & & 18 7t
149. 3 %o H1 IFAW OF U w91
fag 2
(A) X-3187 |
(B) Y-3181 W
(C) o™ &1 % FH (%) e
forgeni m
(D) 3wE U | UH A Al
(E) 3w & @ 18 7t
150. =& fag, <1 f& smo-gw
2x+3y-12<0FTE &, ?
A) @3
B) 23
©) L2
(D) 39w | ¥ TH ¥ M
(E) 394 # & rg 7
45 [N e eor.o.
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24/HV/M-2023-13 et @t

IHIGIR T ITHATH

- g A

ST, |TH 37T 3R T

| w7 :2:309 2 | ( 9ot : 150 )

T3l % IR I W Ugd i for@ 1R @ s W ug o |

el e

. TE gE-gfeae O A | fouea 8 —wr-1, 9m-1 TE W10 9E-1 H OWTST (STET) % W ¥, 9E-IH

W LTI & Yo & ad1 -0 | 7ot & 9% &l

. 91 H U9 & 1 ¥ 30, 911 °§ U ST 31 9 70 997 W11 § I T 71 ¥ 150 9% & | W11 a1

G-I # T 3R 3T IR S0 v Tt @ gfsa 21

3. weft g H 3k GHE T
4. ThHET AN T A M9 AT TyA-YfErert H e T @ o foh THh T I 3R TvA-gieaert

G
[isa B | Fuan Aia o foh gieas 9 W *1@ 7g 31 ST (Y8 Ho 46 3R 47) Afea W 48 Fisd IS § iR &3
YT AT YB o1 DUT g1 AT WeT AT AT SN SATAT GIAT AN AL ¢ | Gieaewt W FoREt TRR Y Fi U W achtet

TR R T e 1 g g W S

5. 30 8 % IW Fulfa wom § e sgedie saw ford | y-gfeae ® iR 39 7 ford
6. T % IW I o foTU AIeR! et ERT ST ¥ IW TAF AT SR | 31U IR Uk & Ys-1 W Fuif| o &

10.

11.

12.

JTUAT ATH qAT 31 Trerur /ey forg e SueRT 3T Useh STi=ll @i S|

. IW TF F YB-2 T FUifiE W G T IIwATR U1 A-YiEaet @i J@em A, B, C A1 D @

TY-YfEeRT o TR U8 ok FW IR IR SAfRd 7, ﬁwﬁ%g@wﬁ/ﬁwﬁﬁ%wmﬁ?@m
FeTE, | I U W TYA-YIETehT JEAT 3ifehd A& A TS TeTd JE@EAT 3ifehd T W I UAH T AL
TR TR

. IAE T % °rE IW—(A), (B), (C), (D) ¥R (E) #9 W 3 T 2| 379 ¥ 19 g G oot Teh I HI g 3TN

T IR T W 3l H| SR Fol TTHIH TR TN IW TR H 3ifRd we Ian W fnf )
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Note : English version of the instructions is printed on the First Page of this Booklet.
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